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If Bobo is smart, then he can do tricks. However, Bobo is not smart. So he
cannot do tricks.

If God is always on America’s side, then America wouldn’t have lost
any wars. America has lost wars. Therefore, God is not always on
America’s side.

If your theory is correct, then light passing Jupiter will be bent. Light
passing Jupiter is bent. Therefore, your theory is correct.

Moore eats carrots and broccoli for lunch, and if he does that, Ife prob-
ably is very hungry by dinnertime. Conclusion: Moore is very hungry by
dinnertime. :

If you value your feet, you won't mow the lawn in your bare feet. There-
fore, since you do mow the lawn in your bare feet, we can conclude that
you don’t value your feet.

If Bobo is smart, then he can do tricks; and he can do tricks. Therefore, he
is smart.

If Charles had walked through the rose garden, then he would have mud
on his shoes. We can deduce, therefore, that he did walk through the rose
garden, because he has mud on his shoes.

If it rained earlier, then the sidewalks will still be wet. We can deduce,
therefore, that it did rain earlier, because the sidewalks are still wet.

If you are pregnant, then you are a woman. We can deduce, therefore, that
you are pregnant, because you are a womar.

If this stuff is on the final, I will get an A in the class because I really
understand it! Further, the teacher told me that this stuff will be on the
final, so I know it will be there. Therefore, I know I will get an A in the
class.

If side A has an even number, then side B has an odd number, but side A
does not have an even number. Therefore, side B does not have an odd
number.

If side A has an even number, then side B has an odd number, and side B
does have an odd number. Therefore, side A has an even number.

If the theory is correct, then we will have observed squigglyitis in the
specimen. However, we know the theory is not correct. Therefore, we did
not observe squigglyitis in the specimen.

If the theory is correct, then we will have observed dilation in the speci-
men. Therefore, since we did not observe dilation in the specimen, we
know the theory is not correct.

If we observe dilation in the specimen, then we know the theory is cor-
rect. We observed dilation—so the theory is correct.

If the comet approached within 1 billion miles of the earth, there would
have been numerous sightings of it. There weren’t numerous sightings.
So it did not approach within 1 billion miles.




